

**Revelry Event Designers** 

## 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

12/09/2022 09:00 AM | install

**PO**:

**Iconic Event Studios** 

Invoice Date:

2/10/2022 09:00 AM   install day 2 2/11/2022 09:00 AM   strike		Shipping Address:	Due Date: Upon Receipt			
2/11/2022 09:00 AM   strike		Hollywood & Highland	Salesperson: Leigh Carter			
Description			Qtty	Price		Total
General						
	Kabuki Drape - 110'Lx22 Irey two-tone chiffon with bac		2	\$4,800.00	Т	\$9,600.00
S	Stage Drape - 85'Lx22'H		1	\$4,500.00	Т	\$4,500.00
b	ourgundy austrian curtain & s	wags				
	Bar Drape - 30'Lx15'H rey two-tone chiffon with bac	sking	2	\$675.00	Т	\$1,350.00
F	Perimeter Drape - 15'H		1	\$2,750.00	Т	\$2,750.00
g	rey two-tone chiffon with bac 0'W, 40'W & 60'W	sking;		<i>,</i>		<i> </i>
k	Kabuki Hardware		1	\$5,000.00	Т	\$5,000.00
	Perimeter Valance - 85'> Purgundy dupioni	24"H	1	\$680.00	Т	\$680.00
	Perimeter Valance - 375 ilver dupioni	'x24"	1	\$3,000.00	Т	\$3,000.00
	Stage Skirt - 20'x16'x30' ilver dupioni	Ή	1	\$400.00	Т	\$400.00
	Stage Skirt - 16'x16'x30' ourgundy dupioni	Ή	1	\$500.00	Т	\$500.00
<b>V</b>	Chandeliers - Montmart	re - Fringe	5	\$650.00	Т	\$3,250.00
	Sofas - New York - Grey	W/ Nailhead Trim 8'	4	\$300.00	Т	\$1,200.00
	Sofas - New York - Secti	onal - 3pc	2	\$450.00	Т	\$900.00
S S	Sofas - Munich - Light G	rey W/ Chrome Legs	4	\$400.00	Т	\$1,600.00
Share s	Sofas - Prague - Black \	/elvet Chaise Lounge	1	\$400.00	Т	\$400.00

Description		Qtty	Price		Total
6	Club & Lounge Chairs - Munich - Accent Chair Light Grey	4	\$150.00	Т	\$600.00
	Club & Lounge Chairs - Munich - Club Chair Light Grey W/ Chome Legs	4	\$150.00	Т	\$600.00
	Club & Lounge Chairs - New York - Swivel Chair Grey Velvet	1	\$125.00	Т	\$125.00
A.	Club & Lounge Chairs - Tokyo - Accent Chair White W/ Chrome	8	\$45.00	Т	\$360.00
	Club & Lounge Chairs - Tokyo - Accent Chair Covers Tokyo Accent Chairs - Burgundy Chenille	8	\$0.00	Т	\$0.00
	Ottomans - Cross Nailhead Trim Black	4	\$30.00	Т	\$120.00
	Ottomans - Standard Pod (6) burgundy chenille & (12) grey chenille	18	\$30.00	Т	\$540.00
	Accent Pillow Gray Chenille W/dupioni Backing	6	\$17.00	Т	\$102.00
	Accent Pillow Fossil Polyester With Chenille Design & Piping 20" x 20"	4	\$17.00	Т	\$68.00
	Accent Pillow Silver Dupioni With Piping	4	\$17.00	Т	\$68.00
	Accent Pillow Gray Velvet	4	\$17.00	Т	\$68.00
	Accent Pillow Silver Thick Chenille	5	\$17.00	Т	\$85.00
	Accent Pillow: Black Velvet	4	\$17.00	Т	\$68.00

Description		Qtty	Price		Total
	Accent Pillow - Burgundy Suede W/ Fringe Trim Cover	12	\$17.00	Т	\$204.00
$\bigcirc$	Dj Booths - Nice - Oval Light Up - Gold	1	\$400.00	Т	\$400.00
	Bars - Las Vegas - Multi Mirror Gold	1	\$675.00	Т	\$675.00
	Bars - New York - Folding 6' Bar - New York - Folding 6' - Black Velvet & Nailhead Trim white frame	4	\$750.00	Т	\$3,000.00
	Bars - Boston - Straight Folding 8' black with white trim	4	\$800.00	Т	\$3,200.00
	Barback - Moscow - Silver W/ Glass Shelves & Base	4	\$175.00	Т	\$700.00
	Barback - Moscow - Gold W/ Glass Shelves & Base	2	\$175.00	Т	\$350.00
	Barback - Tokyo - Straight Basic 8' - Metal <sup>silver</sup>	4	\$260.00	Т	\$1,040.00
	Communal Tables - Washington - Chrome	8	\$180.00	Т	\$1,440.00
	Barstools - Monaco - Black	36	\$20.00	Т	\$720.00
	Barstools - Buenos Aires - Chrome	95	\$20.00	Т	\$1,900.00
	Barstools - Abu Dhabi - Chrome	36	\$15.00	Т	\$540.00
tit	Coffee Tables - Beirut - Glass Top W/ Chrome Frame	4	\$150.00	Т	\$600.00

Description		Qtty	Price		Total
A REAL PROPERTY	Coffee Tables - Abu Dhabi - Infinity Oval Chrome	8	\$150.00	Т	\$1,200.0
(ie Con I	Accent Table - Hollywood - Face Chrome	8	\$100.00	Т	\$800.0
	Accent Table - Nice - Chrome Frame	14	\$75.00	Т	\$1,050.0
MMM	Panels - Florence - Hard Panel 01 black	2	\$500.00	Т	\$1,000.00
	Panels - Burgundy Tufted Velvet	3	\$350.00	Т	\$1,050.00
AA	Dining Table - Monaco - Rectangular Brass 8'	1	\$400.00	Т	\$400.0
	Pedestals - Rectangular Gold Acrylic W/ Hole In Center	4	\$150.00	Т	\$600.00
Services					
	installers for install dec. 9th	10	\$550.00		\$5,500.0
	installers for install dec. 10th	10	\$550.00		\$5,500.0
	installers for strike	10	\$550.00		\$5,500.00
	supervisor onsite for (2) days	1	\$1,500.00		\$1,500.00
	trucking	5	\$450.00	Т	\$2,250.00
	flameproofing & certs	1	\$1,700.00		\$1,700.00
	packing & supplies	1	\$800.00		\$800.00
		Total Produ		\$58,803.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Taxes (tax excempt):			\$22,750.00 \$0.00

Notes

(\$0.00)

(\$0.00)

\$81,553.00

\$81,553.00

Discounts:

Total: Payments:

Balance: